4 ShkC (5 6 Z:BIR)

T i T = AR R R

TH4 AIEIR 1 S AR T
AALBIT H FRR2T4E10H 15 H MNALBITIGET | Fieiigent  HpsAAL=S
T EAMHS 10, 508, 400 AFLFE HEf A A% 9,730, 000
IR E %R 10, 206, 000
A F AAL&%H 1%
1 (BRI R A 9, 450, 000 AL
2 |t 9, 650, 000
3 AR 9, 580, 000
4 [FIRSH H B T3 9, 600, 000
5 |AMREMFE = b7 9, 570, 000
6
7
8
9
10
11
- Tkt Laran B 68 K O 4 AT B9 2 8 (R BRI 3 7)) 55 7 R M OVIIFFR AL A&
ﬁ%G%ﬁl%\%5%&w%6%®ﬁﬁK%6%\iﬁ#ﬁ1$®C£&_”ﬁ®%é%®¢ﬂ%Lﬁ
?5?égigggiI%%K%é%%%%ﬁ&wﬂﬂ@ﬁﬁo MR DO ARDOEHEDFHEIZ DN T (
% [PERIAETRETTRES 15) 12X D,
§ éiififg%mﬁmﬁé%&ﬁﬁu\I%%ﬁ@%ﬁk&é%%%ﬁm%momf(ﬁ&?EBH%

X BFEOHEMIT TH) T,




